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	Reason for change:
	
DLO23..DLO0 = “degreesLongitude” value -8388608..8388607 (two’s complement binary coded as per ASN.1 encoding of an integer value, DLO23 is most significant bit and DLO0 is least significant bit).
“degreesLongitude” is encoded as two’s complement binary coded as per ASN.1 encoding of integer value. In the LPP(TS36.355), “degreesLongitude” is encoded an ASN.1 integer value using unaligned PER encoding which does not use ‘two’s complement’ in this context. 

Therefore, to remove this ambiguity, there are two possibilities:
1) Two’s complement in a fixed length of 24 bits
2) As unaligned PER encoding of an INTEGER with the same range

 It is proposed to use ‘two’s complement in a fixed length of 24 bits’.

Further to note, TTCN does not encode ellipsoidPointWithAltitude as the encoded octet string is provided using PIXIT(px_EllipsoidPointWithAltitude).
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<Start of Change>
[bookmark: _Toc508294581][bookmark: _Toc51779640][bookmark: _Toc75427391][bookmark: _Toc99826694]6.12	UPDATE UE LOCATION INFORMATION
This message is only sent in the direction SS to UE.
	Information Element
	Reference
	Presence
	Format
	Length

	Protocol discriminator
	TS 24.007 [5], subclause 11.2.3.1.1
	M
	V
	½

	Skip indicator
	TS 24.007 [5], subclause 11.2.3.1.2
	M
	V
	½

	Message type
	
	M
	V
	1

	ellipsoidPointWithAltitude
	TS 36.355 [37], subclause 6.4.1.
	M
	V
	8

	horizontalVelocity
	TS 36.355 [37], subclause 6.4.1.
	M
	V
	3

	gnss-TOD-msec
	TS 36.355 [37], subclause 6.5.2.6.
	M
	V
	3



where message type is:
	8
	7
	6
	5
	4
	3
	2
	1
	bit no.

	1
	0
	0
	0
	1
	0
	1
	1
	octet 1



And where ellipsoidPointWithAltitude is:
	8
	7
	6
	5
	4
	3
	2
	1
	bit no.

	L1
	DLA22
	DLA21
	DLA20
	DLA19
	DLA18
	DLA17
	DLA16
	octet 1

	DLA15
	DLA14
	DLA13
	DLA12
	DLA11
	DLA10
	DLA9
	DLA8
	octet 2

	DLA7
	DLA6
	DLA5
	DLA4
	DLA3
	DLA2
	DLA1
	DLA0
	octet 3

	DLO23
	DLO22
	DLO21
	DLO20
	DLO19
	DLO18
	DLO17
	DLO16
	octet 4

	DLO15
	DLO14
	DLO13
	DLO12
	DLO11
	DLO10
	DLO9
	DLO8
	octet 5

	DLO7
	DLO6
	DLO5
	DLO4
	DLO3
	DLO2
	DLO1
	DLO0
	octet 6

	A1
	AD14
	AD13
	AD12
	AD11
	AD10
	AD9
	AD8
	octet 7

	AD7
	AD6
	AD5
	AD4
	AD3
	AD2
	AD1
	AD0
	octet 8



L1 = “latitudeSign” value 0=north and 1=south
DLA22..DLA0 = “degreesLatitude” value 0..8388607 (binary coded, DLA22 is most significant bit and DLA0 is least significant bit).
DLO23..DLO0 = “degreesLongitude” value -8388608..8388607 (two’s complement binary coded as per ASN.1 encoding of an integer value in a fixed length of 24 bits, DLO23 is most significant bit and DLO0 is least significant bit).
A1 = “altitudeDirection” value 0=height and 1=depth
AD14..AD0 = “altitude” value 0..32767 (binary coded, AD14 is most significant bit and AD0 is least significant bit).
And where horizontalVelocity is:
	8
	7
	6
	5
	4
	3
	2
	1
	bit no.

	B8
	B7
	B6
	B5
	B4
	B3
	B2
	B1
	Octet 1

	B0
	HS10
	HS9
	HS8
	HS7
	HS6
	HS5
	HS4
	octet 2

	HS3
	HS2
	HS1
	HS0
	Reserved
	octet 3



B8..B0 = “bearing” value 0..359 (binary coded, B8 is most significant bit and B0 is least significant bit).
HS10..HS0 = “horizontalSpeed” value 0..2047 (binary coded, HS10 is most significant bit and HS0 is least significant bit).
And where nss-TOD-msec is:
	8
	7
	6
	5
	4
	3
	2
	1
	bit no.

	Reserved
	T21
	T20
	T19
	T18
	T17
	T16
	octet 1

	T15
	T14
	T13
	T12
	T11
	T10
	T9
	T8
	octet 2

	T7
	T6
	T5
	T4
	T3
	T2
	T1
	T0
	octet 3



T21..T0 = “gnss-TOD-msec” value 0.. 3599999 (binary coded, T21 is most significant bit and T0 is least significant bit).

<End of Change>
